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SECTION – A

1. A hall a square floor of dimension 10 m × 10 m (see the figure) and vertical walls. If the angle GPH between the

diagonals AG and BH is cos–1 
1

5
, then the height of the hall (in meters) is:

,d gky ds oxkZdkj Q'kZ dh foek 10 m × 10 m gS rFkk bldh nhokjsa Å/okZ/kj gSa (fp= nsf[k,) A ;fn blds fod.kksZa AG

rFkk BH ds chp U;wu dks.k GPH =  cos–1 
1

5
 gS] rks gky dh Å¡pkbZ (ehVj esa) gS %

E F

H G

P

A

D 10 m

10 m

C

B

(1)  5 3 (2) 5 (3) 2 10 (4) 5 2
Question ID : 86435120239
Option 1 ID : 86435167308
Option 2 ID : 86435167309
Option 3 ID : 86435167310
Option 4 ID : 86435167307

Ans. Official Answer NTA (4)

Sol. Let A(0,0,0)

      B(10,0,0)

      G(10,h,10)

      H(0, h,10)


BH 10i h j 10k   


 


AG 10i h j 10k  


 

2

2 2

AG.BH h
cos

| AG || BH | 200 h 200 h
  

 

 

 

2

2

1 h

5 200 h



24h 200
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2h 50

h 5 2

2. A fair die is tossed until six is obtained on it. Let X be the number of required tosses, then the conditional

probability P(X  5) (X > 2) is :

,d U;k; ikls dks N% izkIr gksus rd mNkyk tkrk gSA ekuk ikls dks mNkyus dh vko';d la[;k X gS] rks lizfrca/k izkf;drk

P(X  5) (X > 2) gS %

(1) 
11

36
(2) 

125

216
(3) 

25

36
(4) 

5

6

Question Type : MCQ
Question ID : 86435120247
Option 1 ID : 86435167339
Option 2 ID : 86435167342
Option 3 ID : 86435167340
Option 4 ID : 86435167341

Ans. Official Answer NTA (3)

Sol. P (six is obtained)
1

P(A)
6

 

5
P(A)

6


Req. Probability 

5 5

2 3

5 5 1

6 6 6

5 1 5 1
.

6 6 6 6

   
        

   
   

        
   

                          
25

36


3. Let A = 

1 0 0

0 1 1

1 0 0

 
 
 
 
 

. Then AA2025 – A2020 is equal to :

ekuk A = 

1 0 0

0 1 1

1 0 0

 
 
 
 
 

 gS rks A2025 – AA2020 cjkcj gS %
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(1) A6 (2)  A5– A (3) A5 (4) A6– A

Question Type : MCQ
Question ID : 86435120233
Option 1 ID : 86435167283
Option 2 ID : 86435167284
Option 3 ID : 86435167286
Option 4 ID : 86435167285

Ans. Official Answer NTA (4)

Sol.
2 6

1 0 0 1 0 0

A 2 1 1 A 5 1 1

1 0 0 1 0 0

   
       
      

3

1 0 0

A 2 1 1

1 0 0

 
   
  

4

1 0 0

A 3 1 1

1 0 0

 
   
  

2025

1 0 0

A 2024 1 1

1 0 0

 
   
  

        and      
2020

1 0 0

A 2019 1 1

1 0 0

 
   
  

2025 2020 6

0 0 0

A A 0 0 0 A A

0 0 0

 
     
  

4. If the value of the integeral 

5

x [x]

0

x [x]

e 


  dx = e–1 + , where , ,  R, 5 + 6 = 0, and [x] denotes the

greatest integer less than or equal to x; then the value of ( + )2 is equal to :

;fn lekdyu 

5

x [x]

0

x [x]

e 


  dx = e–1 + gS] tgk¡ , ,  R, 5 + 6 = 0 rFkk [x] egRre iw.kkZad gSa] rks < x gSa] rks

( + )2 dk eku cjkcj gS %

(1) 100 (2) 16 (3) 36 (4) 25
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Question Type : MCQ
Question ID : 86435120243
Option 1 ID : 86435167325
Option 2 ID : 86435167326
Option 3 ID : 86435167324
Option 4 ID : 86435167323

Ans. Official Answer NTA (4)

Sol.
1 2 3 4 5

x x 1 x 2 x 3 x 4
0 1 2 3 4

x x 1 x 2 x 3 x 4
dx dx dx dx

e e e e e   

   
        

             x a 1       x b 2       x c 3       x d 4 
1 1 1 1 1

x a b c d
0 0 0 0 0

x a 2 b 4 c 6 d 8
dx da bd dc ed

e e e e e

   
        

1 1
1

x
0 0

5x 20 x 4
5 dx 30e 25

ex e
 

      

                                      30  

   25 

   2( ) 25  

5. Let P be the plane passing through the point (1, 2, 3) and the line of  intersection of the planes  ˆ ˆ ˆr. i j 4k 


=

16 and  ˆ ˆ ˆr. i j k  


 = 6. Then which of the following points does NOT lie on P ?

ekuk P ,d lery gS tks fcUnq (1, 2, 3) rFkk leryksa  ˆ ˆ ˆr. i j 4k 


= 16 vkSj  ˆ ˆ ˆr. i j k  


 = 6 dh izfrPNsnu js[kk

ls gksdj tkrk gS rks fuEu esa ls dkSulk fcUnq P ij fLFkr ugha gS\

(1) (3, 3, 2) (2)  (6, – 6, 2) (3) (– 8, 8, 6) (4)  (4, 2, 2)

Question Type : MCQ
Question ID : 86435120248
Option 1 ID : 86435167346
Option 2 ID : 86435167344
Option 3 ID : 86435167343
Option 4 ID : 86435167345

Ans. Official Answer NTA (4)

Sol. Equation of plane

(x y 4x 16) ( x y z 6) 0         

                            (1, 2,3)

                            
1

2


 
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equation of Req. plane 3x y 7z 26  

6. The value of is 
2 3 5 6 7

2sin sin sin sin sin sin
8 8 8 8 8 8

                
           
           

:

2 3 5 6 7
2sin sin sin sin sin sin

8 8 8 8 8 8

                
           
           

 dk eku gS %

(1) 
1

4
(2)  

1

8
(3) 

1

8 2
(4) 

1

4 2

Question Type : MCQ
Question ID : 86435120249
Option 1 ID : 86435167349
Option 2 ID : 86435167347
Option 3 ID : 86435167348
Option 4 ID : 86435167350

Ans. Official Answer NTA (2)

Sol.
2 2 22 3

2sin sin sin
8 8 8

       
     
     

2 2sin .sin
8 2 8

   
  

 

2 2sin .cos
8 8

 


21 1
sin

4 4 8


 

7. Let [t] denote the greatest integer less than or equal to t. Let f(x) = x – [x], g(x) = 1 – x + [x], and h(x) = min

{f(x), g(x)}. x  [– 2, 2]. Then h is :

(1) Continuous in [ – 2, 2] but not differentiable at exactly three points in (– 2, 2)

(2) Not continuous at exactly four points in [–1, 2]

(3)  Not continuous at exactly three points in [–1, 2]

(4) Continuous in [ – 2, 2] but not differentiable at more than four points in (–2, 2)

ekuk [t] egÙke iw.kkZad < t gSA ekuk f(x) = x – [x], g(x) = 1 – x + [x] rFkk h(x) = min {f(x), g(x)},  x  [– 2, 2] gS]

rks h :

(1) [ – 2, 2] esa larr gS ijUrq (– 2, 2) esa Bhd rhu fcUnqvksa ls vf/kd ij vodyuh; ugha gSA
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(2) [–1, 2] esa Bhd rhu fcUnqvksa ij larr ugha gSA

(3)  [–1, 2] esa Bhd pkj fcUnqvksa ij larr ugha gSA

(4) [ – 2, 2] esa larr gS ijUrq (–2, 2) esa pkj fcUnqvksa ls vf/kd ij vodyuh; ugha gSA

Question Type : MCQ
Question ID : 86435120245
Option 1 ID : 86435167334
Option 2 ID : 86435167331
Option 3 ID : 86435167332
Option 4 ID : 86435167333

Ans. Official Answer NTA (4)

Sol. f (x) {x}

g(x) 1 {x} 

y {x}

– 2 – 1 0 1 2

g(x) 1 {x} 

– 2 – 1 0 1 2

 h(x) min f (x),g(x)

– 2 – 1 0 1 2

1/2

non differentiable at 7 points

8. Two fair dice are thrown. The numbers on them are taken as  and , and a system of linear equations

x + y + z = 5

x + 2y + 3z = 

x + 3y + z = 1



Question Paper With Text Solution (Maths)
JEE Main August 2021 | 26 August  Shift-2

Page No. 8

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

is constructed. If p the probability that the system has a unique solution and q is the probability that the system

has no solution, then :

nks U;kl ikls Qsads tkrs gSA muesa izkIr vadks dks  rFkk ysdj jSf[kd lehdj.k fudk;

x + y + z = 5

x + 2y + 3z = 

x + 3y + z = 1

cuk;k tkrk gSA ;fn bl fudk; dk vf}rh; gy gksus dh izkf;drk p gS rFkk bl fudk; dk dksbZ Hkh gy u gksus dh

izkf;drk q gS] rks %

(1) p = 
1

6
 and q = 

1

36
(2) p = 

5

6
 and q = 

5

36

(3) p = 
5

6
 and q = 

1

36
(4) p = 

1

6
 and q = 

5

36

Question Type : MCQ
Question ID : 86435120232
Option 1 ID : 86435167279
Option 2 ID : 86435167282
Option 3 ID : 86435167280
Option 4 ID : 86435167281

Ans. Official Answer NTA (2)

Sol.

1 1 1

D 1 2 3 5

1 3

   



x

1 1 5

D 2 3 4 10 3 44

3 1

   



y

1 1 5

D 2 3 5 13

1 1

      



3 2 2x 2y y x 0  
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z

1 1 5

D 2 3 2 6

1 3 1

     

for unique solution

5 {1, 2,3,4,5,6}  

5 6 5
P

6 6 6
  

for no solution

5 3   

1 5 5
q

6 6 36
  

9.    

9

2x 2
n 1

x
lim

n n 1 x 2 2n 1 x 4


 
      
  is equal to :

   

9

2x 2
n 1

x
lim

n n 1 x 2 2n 1 x 4


 
      
 ds cjkcj gS %

(1) 
9

44
(2) 

5

24
(3) 

1

5
(4) 

7

36

Question Type : MCQ
Question ID : 86435120234
Option 1 ID : 86435167289
Option 2 ID : 86435167290
Option 3 ID : 86435167288
Option 4 ID : 86435167287

Ans. Official Answer NTA (1)

Sol.
9

2x 2 x 1

x
lim

x(x 1)x 2(2x 1)x 2 

 
  

    

9

2x 2 x 1

x
lim

(hx 2)x (x 1)x 2 

 
  

    

9

x 2 x 1

1 1
lim

hx 2 (x 1)x 2 

 
  

   

x 2

1 1 9
lim

x 2 10x 2 44

 
   

  
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10. The locus of the mid points of the chord of the hyperbola x2 – y2 = 4, which touch the parabola y2 = 8x, is :

vfrijoy; x2 – y2 = 4 dh mu thokvksa] tks ijoy; y2 = 8x dks Li'kZ djrh gS] ds e/; fcUnqvksa dk fcUnqiFk gS %

(1) x3 (x –2) = y2 (2) y3 (x –2) = x2 (3) x2 (x –2) = y3 (4) y2 (x –2) = x3

Question Type : MCQ
Question ID : 86435120242
Option 1 ID : 86435167319
Option 2 ID : 86435167322
Option 3 ID : 86435167320
Option 4 ID : 86435167321

Ans. Official Answer NTA (4)

Sol. Tangent to 2y 8x  is 
2

y mx
m

 

2 2h k h
y x

k k

 
  
 

 is the equation of chord with mid point (h, k)

Comparing above equations we get

h
m

k
  and 

2 22 k h

m k




3 2 2h 2k k h 0  

Equation of locus is 3 2 2x 2y y x 0  

11. Consider the two statements :

(S1) : (p  q ) (~ q  p) is a tautology.

(S2) : (p  ~ q ) (~ q p) is a fallacy.

Then :

(1)  both (S1) and (S2) are false (2) only (S2) is true

(3) only (S1) is true (4) both (S1) and (S2) are true

Question Type : MCQ
Question ID : 86435120244
Option 1 ID : 86435167329
Option 2 ID : 86435167328
Option 3 ID : 86435167327
Option 4 ID : 86435167330

Ans. Official Answer NTA (4)
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Sol.

p q p q p q q p (p q) ( q p) p q p q (p q) ( p q)

T T F F T T T F T F

T F F T F T T T F F

F T T F T T T F T F

F F T T T F T F T F

                

12. A 10 inches long pencil AB with mid point C and a small eraser P are placed on the horizontal top of a table

such that PC = 5   inches and PCB = tan–1 (2).

The acute angle through which the pencil must be rotated about C so that the perpendicular distance between

eraser and pencil becomes exactly 1 inch is :

10 bap yEch isfUly AB ftldk e/; fcUnq C gS] rFkk ,d NksVk lk jcM+ P ,d est dh {kSfrt Åijh lrg ij bl izdkj

j[ks gSa fd PC = 5   bap rFkk PCB = tan–1 (2) gSaA iasfly dks C ds lkis{k fuEu esa ls fdl U;wu dks.k rd ?kqek;k

tk, fd jcM+ rFkk iasfly ds chp yEcor~ nwjh Bhd 1 bap gks tk,\

A 5 in C 5 in B

P

5 in

(1) tan–1 (1) (2) tan–1 
4

3

 
 
 

(3) tan–1 
3

4

 
 
 

(4) tan–1 
1

2

 
 
 

Question Type : MCQ
Question ID : 86435120238
Option 1 ID : 86435167305
Option 2 ID : 86435167303
Option 3 ID : 86435167304
Option 4 ID : 86435167306

Ans. Official Answer NTA (3)

Sol.

1



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1
sin

5
 

1
tan

2
  

    tan 2 

1
2

32tan( )
1 1 4


   



1 3
tan

4
  

    
 

13. The domain of the function cosec–1  
1 x

x

 
 
 

 is :

Qyu cosec–1  
1 x

x

 
 
 

 dk izkar gS %

(1) 
1

,
2

 
   

– {0} (2) 
1

, 0
2

 
  

   [0, )

(3) 
1

, 0
2

 
  

  [1, ) (4)  
1

,
2

 
  
 

 – {0}

Question Type : MCQ
Question ID : 86435120230
Option 1 ID : 86435167271
Option 2 ID : 86435167274
Option 3 ID : 86435167273
Option 4 ID : 86435167272

Ans. Official Answer NTA (1)

Sol.
1 x

1
x


        or      

1 x
1

x




1 2x
0

x


      or       

1
1

x


1
x 0

2

 
  

    or      x (0, ) 

1
x {0}

2

 
    



Question Paper With Text Solution (Maths)
JEE Main August 2021 | 26 August  Shift-2

Page No. 13

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

14. If   
100

3 i  = 299  (p + iq), then p and q are roots of the equation :

;fn  
100

3 i  = 299  (p + iq) gS] rks p rFkk q fdl lehdj.k ds ewy gS\

(1)  2x 3 1 x 3 0    (2)  2x 3 1 x 3 0   

(3)  2x 3 1 x 3 0    (4)  2x 3 1 x 3 0   

Question Type : MCQ
Question ID : 86435120231
Option 1 ID : 86435167275
Option 2 ID : 86435167278
Option 3 ID : 86435167277
Option 4 ID : 86435167276.

Ans. Official Answer NTA (4)

Sol. 100 99( 3 i) 2 (p iq)  

100

100 992 cos i sin 2 (p iq)
6 6

  
   

 

50
i

32.e p iq


 

50 50
2 cos i sin p iq

3 3

  
   

 

1 3
2 i p iq

2 2

 
    

 

p 1     and   q 3

2x ( 3 1)x 3 0   

15. Let y(x) be the solution of the differential equation 2x2 dy + (ey – 2x) dx = 0, x > 0. If y(e) = 1, then y(1) is equal

to :

ekuk vody lehdj.k 2x2 dy + (ey – 2x) dx = 0, x > 0 dk gy y(x) gSA ;fn y(e) = 1 gS] rks y(1) cjkcj gS %

(1) 2 (2) log
e
 (2e) (3) 0 (4)  log

e
 2

Question Type : MCQ
Question ID : 86435120237
Option 1 ID : 86435167299
Option 2 ID : 86435167300
Option 3 ID : 86435167302
Option 4 ID : 86435167301
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Ans. Official Answer NTA (4)

Sol.
y

2

dy e 1

dx 2x x


 

y y

2

e dy e 1

dx x 2x

 
 

Let ye t 

1
dx

x
2

dt t 1
I.F. e x

dx x 2x

 
    

 

1
tx dx

2x
 

y 1
e x ln x c

2
  

c
2




y
x

1
e (1 ln x)

2
  

16. The point P(– 2 6 , 3 ) lies on the hyperbola 
2

2

x

a
 – 

2

2

y

b
 = 1 having eccentricity 

5

2
. If the tangent and

normal at P to the hyperbola intersect its conjugate axis at points Q and R respectively, then QR is equal to :

vfrijoy; 
2

2

x

a
 – 

2

2

y

b
 = 1 ftldh mRdsUnzrk 

5

2
 gS] ,d fcUnq P(– 2 6 , 3 ) gSA ;fn bl vfrijoy; ds fcUnq P

ij Li'kZ js[kk rFkk vfHkyEc vfrijoy; ds la;qXeh v{k dks Øe'k% fcUnqvksa Q rFkk R ij dkVrs gSa] rks QR cjkcj gS %

(1) 6 (2) 3 6 (3) 4 3 (4) 6 3

Question Type : MCQ
Question ID : 86435120241
Option 1 ID : 86435167317
Option 2 ID : 86435167316
Option 3 ID : 86435167315
Option 4 ID : 86435167318

Ans. Official Answer NTA (4)

Sol.
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17. The value of 

22

sin x

2

1 sin x

1






 
 

  
  dx is :

22

sin x

2

1 sin x

1






 
 

  
  dx dk eku gS %

(1) 
3

4


(2) 

3

2


(3) 

2


(4) 

5

2



Question Type : MCQ
Question ID : 86435120236
Option 1 ID : 86435167296
Option 2 ID : 86435167295
Option 3 ID : 86435167297
Option 4 ID : 86435167298

Ans. Official Answer NTA (1)

Sol.

18. A circle C touches the line x = 2y at the point (2, 1) and itnersects the circle C
1
 : x2 + y2 + 2y – 5 = 0 at two

points P and Q such that PQ is a diameter of C
1
. Then the diameter of C is :

,d o`Ùk C js[kk x = 2y dks fcUnq (2, 1) ij Li'kZ djrk gS rFkk o`Ùk C
1
 : x2 + y2 + 2y – 5 = 0 dks nks fcUnqvksa P rFkk Q

ij bl izdkj dkVrk gS fd PQ o`Ùk C
1 
dk ,d O;kl gS] rks C dk O;kl gS %

(1) 7 5 (2) 285 (3) 15 (4) 4 15

Question Type : MCQ
Question ID : 86435120240
Option 1 ID : 86435167314
Option 2 ID : 86435167313
Option 3 ID : 86435167311
Option 4 ID : 86435167312

Ans. Official Answer NTA (1)

Sol.

19. The local maximum value of the fucntion 

2x
2

f (x)
x

 
  
 

, x > 0, is :

Qyu 

2x
2

f (x)
x

 
  
 

, x > 0, dk LFkkuh; vf/kdre eku gS %



Question Paper With Text Solution (Maths)
JEE Main August 2021 | 26 August  Shift-2

Page No. 16

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

(1) 

e

44

e

 
 
 

(2) 
2

ee (3) 1 (4)  
1

e2 e

Question Type : MCQ
Question ID : 86435120235
Option 1 ID : 86435167293
Option 2 ID : 86435167292
Option 3 ID : 86435167294
Option 4 ID : 86435167291

Ans. Official Answer NTA (2)

Sol.

20. If 
50

1

2
r 1

1
tan

2r



  = p, then the value of tan p is :

;fn 
50

1

2
r 1

1
tan

2r



  = p gS] rks tan p dk eku gS %

(1) 
50

51
(2) 100 (3) 

101

102
(4) 

51

50

Question Type : MCQ
Question ID : 86435120246
Option 1 ID : 86435167335
Option 2 ID : 86435167338
Option 3 ID : 86435167337

Option 4 ID : 86435167336

Ans. Official Answer NTA (1)

Sol.

SECTION - B

1. The least positive integer n such that 
 

 

n

n 2

2i
, i 1

1 i


 


, is a positive integer, is ______.

fuEure /kukRed iw.kkZad n ftlds fy, 
 

 

n

n 2

2i
, i 1

1 i


 


, ,d /kukRed iw.kkZad gS] gS______A

Question Type : SA

Question ID : 86435120257

Ans. Official Answer NTA (6)

Sol.
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2. Let Q be the foot of the perpendicular from the point P(7, –2, 13) on the plane containing the lines

x 1 y 1 z 3

6 7 8

  
   and 

x 1 y 2 z 3

3 5 7

  
   .Then (PQ)2, is equal to _____.

ekuk fcUnq P(7, –2, 13) ls lery] ftlesa js[kk,¡ 
x 1 y 1 z 3

6 7 8

  
   rFkk 

x 1 y 2 z 3

3 5 7

  
  fLFkr gS] ij Mkys

x;s yEc dk ikn Q gS rks (PQ)2 cjkcj _____ gSA

Question Type : SA

Question ID : 86435120258

Ans. Official Answer NTA (96)

Sol.

3. Let a and b respectively be the points of local maximum and local minimum of the function f(x) = 2x3 – 3x2 –

12x. If A is the total area of the region bounded by y = f(x), the x-axis and lines x = a and x =b, then 4A is equal

to ______.

ekuk Qyu f(x) = 2x3 – 3x2 – 12x ds LFkkuh; mPpre rFkk LFkkuh; fuEure fcUnq Øe'k% a rFkk b gSA ;fn y = f(x),

x-v{k] rFkk js[kkvksa x = a vkSj x =b ls f?kjs {ks= dk {ks=Qy A gS] rks 4A cjkcj gS______A

Question Type : SA

Question ID : 86435120254

Ans. Official Answer NTA (114)

Sol.

4. The sum of all 3-digit numbers less than or equal to 500, that are formed without using the digit "1" and they all

are multiple of 11, is ______.

vad 1 dk iz;ksx fd, fcuk 500 ds cjkcj ;k mlls de 3-vadks dh lHkh la[;k,sa] tks 11 dh xq.kt gS] dk ;ksx______A

Question Type : SA

Question ID : 86435120253

Ans. Official Answer NTA (7744)

Sol.
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5. Let 
n

k

 
 
 

 denote nC
k 
and 

n
, if 0 k nn

k
k

0, otherwise

 
       

  


.

If A
k
 = 

9 8

i 0 i 0

9 12 8 13

i 12 k i i 13 k i 

       
                

   and AA
4
 – A

3
 = 190 p, then p is equal to ____.

ekuk 
n

k

 
 
 

 , nC
k 
dks n'kkZrk gS rFkk 

n
n , 0 k n

k
k

0,

 
       

  


;fn

vU;Fkk

  gSA

;fn A
k
 = 

9 8

i 0 i 0

9 12 8 13

i 12 k i i 13 k i 

       
                

   rFkk A
4
 – AA

3
 = 190 p gS] rks p cjkcj gS____A

Question Type : SA

Question ID : 86435120252

Ans. Official Answer NTA (49)

Sol.

6. If the proejction of the vector ˆ ˆ ˆi 2 j k    on the sum of the two vectors ˆ ˆ ˆ2i 4 j 5k   and ˆ ˆ ˆi 2 j 3k    is ,

then  is equal to _____.

;fn nks lfn'kksa ˆ ˆ ˆ2i 4 j 5k   rFkk ˆ ˆ ˆi 2 j 3k    ds ;ksx ij lfn'k ˆ ˆ ˆi 2 j k    dk iz{ksi gS] rks  cjkcj gS_____A

Question Type : SA

Question ID : 86435120256

Ans. Official Answer NTA (5)

Sol.

7. Let the mean and variance of the four numbers 3, 7, x and y (x > y) be 5 and 10 respectively. Then the mean

of four numbers 3 + 2x, 7 + 2y, x + y and x – y is _____.

ekuk pkj la[;kvksa 3, 7, x rFkk y (x > y) ds ek/; rFkk izlj.k Øe'k% 5 rFkk 10 gS rks pkj la[;kvksa 3 + 2x, 7 + 2y,

x + y rFkk x – y dk ek/; gS_____A

Question Type : SA

Question ID : 86435120255
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Ans. Official Answer NTA (12)

Sol.

8. Let  be in R. If  and  are the roots of the equation x2 – x + 2 = 0 and  and  are the roots of the

equation 3x2 – 10x + 27 = 0, then 



 is equal to ______.

ekuk  R esa gSA ;fn lehdj.k x2 – x + 2 = 0 ds ewy  rFkk  gSa vkSj lehdj.k 3x2 – 10x + 27 = 0 ds ewy

 rFkk   gSa] rks 



cjkcj gS______A

Question Type : SA

Question ID : 86435120250

Ans. Official Answer NTA (18)

Sol.

9. Let A be a 3 × 3 real matrix. If det(2 Adj) (2 Adj(Adj) (2A)))) = 241, then the value of det (A2) equals ____.

ekuk A ,d 3 × 3 okLrfod vkO;wg gSA ;fn det(2 Adj) (2 Adj(Adj) (2A)))) = 241 gS] rks det (A2) dk eku cjkcj

gS____A

Question Type : SA

Question ID : 86435120251

Ans. Official Answer NTA (4)

Sol.

10. Let a
1
, a

2
,......a

10
 be an AP with common difference –3 and b

1
, b

2
,....b

10
 be a GP with common ratio 2.

Let c
k
 = a

k
 + b

k
, k = 1, 2,....., 10. If c

2
 = 12 and c

3
 = 13, then  

10

k
k 1

c

  is equal to ____.

ekuk a
1
, a

2
,......a

10
 ,d AP gS] ftldk lkoZvarj –3 gS rFkk b

1
, b

2
,....b

10
 ,d GP gS] ftldk lkoZ vuqikr 2 gSA

ekuk c
k
 = a

k
 + b

k
, k = 1, 2,....., 10 gSA ;fn c

2
 = 12 rFkk c

3
 = 13 gS] rks 

10

k
k 1

c

  cjkcj gS____A

Question Type : SA

Question ID : 86435120259

Ans. Official Answer NTA (2021)

Sol.


